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Topic:- GENERAL HINDI

1) “RerRRRasTer FRA e s Rud s d?
1. g
2. IhuTfor

3. TSRV
4. T

Correct Answer :-

2) fampedl A faw ¢ e <reg & o weaw TEN @2
1. JHBIAT

2. Sgdia

3. fava

4. GyreT

Correct Answer :-

3) R fau e faweul & @ H19 A1 SN JTHR BT A LI 2
1. SR

2. TelTIE

3. BIIET

4, IXIET

Correct Answer :-



2.
3. Ul
4.

Correct Answer :-

6) fau T Tt & forg Tt wafardt ara =gl ¥t ufea &t gig- el
1. ITT, GRT, WA, 9y

2. TSI, T, THT, STHT

3. 33T, HHET, ARSI, HIT

4. ST, I, AT, TS

Correct Answer :-

. T, GRT, YAt Y

2. Uhd
3. 3Bl

4. UdHA

Correct Answer :-

8) ‘W gRT YR Mafor@ M g s arm A dI AT area 82
1. YTaareg
2. pHATA



3. $H Pl sl
4. Hqard

Correct Answer :-

9) Uy § S 1 TUTE 32
1. T HId FHN

2. TGTY TAN

3. HUYRT TN

4. Ty quTy

Correct Answer :-

. 3t HId TE™

10) ‘Il T SEMET GeTaR &1 3 forg fypedi HA B A2
1. AT BRI PR

2. faudid &

3. fAid s A

4, fomdid SRl BT

Correct Answer :-

. foudta srd e

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
Tell him not to flog a dead horse.

1. to waste one’s time repeating an action that yields the same results

2. to waste one’s efforts doing something that is no longer possible

3. to kill someone who is already dead

4. to waste one’s money buying something that no longer exists

Correct Answer :-

» to waste one’s efforts doing something that is no longer possible

2) Choose the option that correctly sequences the following sentences.
1. These investors to a very large extent propelled this boom.



2. The stock market, by and large, is a good barometer of the mood, and the state of the economy.

3. These have caught the attention of the foreign institutional investors.

4. Unlike 2001, when the collapse of dotcom stocks led to a rapid melting of ice, the current market surge is
reflected across sectors as diverse as pharmaceuticals and automobiles.

5. The current boom reflects the improving fundamentals of the economy, and the scale of liberalization taking
place.

1. 25314
2. 54312
3. 15423

4. 35412

Correct Answer :-

« 25314

3) Out of the following options, choose the most appropriate tense that best fills in to complete the given sentence:
The shop __ in half an hour, so hurry up.

1. was closing

2. closes

3. close

4. is to close

Correct Answer :-

« closes

4) Out of the following four options, choose the incorrect sentence:
1. The article reflects the American companies in Japan.

2. The article is about American companies in Japan

3. The article is talking of American companies in Japan.

4. The article talks of American companies in Japan.

Correct Answer :-
» The article is talking of American companies in Japan.

5) Out of the following options, choose the correct form of adverb for the given sentence:
The girl speaks English

1. yesterday

2. fluently



3. usually
4, hardly

Correct Answer :-

« fluently

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the given
sentence:
Fish and rice a staple diet.

1. is being
2.1s
3. are being

4, are

Correct Answer :-

7) Out of the following options, choose the most appropriate usage to fill in the blank:
In spite of the heat, they marched

1. fast
2. quickly
3. humbly

4. with speed

Correct Answer :-

8) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to the
underlined word.
Now-a-days with the help of eccaleobion medical departments have saved many lives.

1. pace maker
2. ventilator
3. echo cardio gram

4, incubator

Correct Answer :-

« incubator



Topic:- GENERAL KNOWLEDGE

1) Under the “"Gaon Ki Beti Yojana” of MP government, a scholarship of Rs. per month is given for months to
the rural girls who pass their 12t exam in first division./

HAUIY IRPR B "1Tid B 31" Gior1 F ded, T aefFra S U Ae__ suu$l segir_ #dH ¥ R & et @ <t
12% ufian § yuw Ao & Ifiof S

1. 1500, 6

2.500, 10
3. 1000, 10
4.1000, 8

Correct Answer :-

« 500, 10

2) District Neemuch comes under which division of Madhya Pradesh? /
foren e, war uew & fpw WumT (Rdior) & siafa eman 82

1. Ujjain / I

2. Indore / 3@?

3. Hoshangabad / BIRFTIETG

4, Sagar / 9'R

Correct Answer :-
« Ujjain / 3=

3) The first Indian woman to swim across the English Channel was: /
R Y S A9 IR HA IR WU WRedg Al &:

1. Nisha Millet / 21T firete

2. Bhakti Sharma / Hfdd <@

3. Bula Choudhury / §cl EIER

4. Anita Sood / \’Fﬂ?ﬂﬁ?{

Correct Answer :-

« Bula Choudhury / & et

4) The Central Hindu College at Varanasi was founded by: /
IRTURG § A g dias 3t RITYAT fea= ot 62

1. Madan Mohan Malaviya / Hgd Inﬁ:f Hid™g

2. Bhagwan Das / HiTdTd QI



3. Annie Besant / Qﬁf 94c¢
4, Kashinath Telang / HIRIATY daiT

Correct Answer :-

» Annie Besant / Q?ﬁ e

5) In which year was the Federation of Madhya Pradesh Chambers of Commerce and Industry established? /

IS 3R ITNT & HHAYS AR Y (HSIA TP T UG JaR ST S TS $SWI) I RIGAT S A 7 53 A?
1. 1976

2. 2006

3.2012

4. 1982

Correct Answer :-
e 1976

6) was the Industry partner for “The Eighth Regional 3R Forum in Asia and the Pacific” held in April 2018 at
Indore. /

_,%eR ¥ el 2018 ® maifora "ufkar oiR weria A smraai &g 3R wivA F fore I weantt ar
1. Confederation of Indian Industry / W< I&RT UREY

2. Ministry of Micro, Small and Medium Enterprises / J&H, Y 3R A JeH TATT

3. Tata Housing Development Company / CICl BIIRIAT SqAUHc HUT

4, Reliance Industries / ﬁﬂmé_s?ﬁ?ﬂ

Correct Answer :-

« Confederation of Indian Industry / YRdIg I&NT GREY

7) Name the UNESCO World Heritage site built to commemorate the Golden Jubilee of Queen Victoria. /
Tt fageifvar @1 w@fofa sridt a9 & fore a9me 7T gt & fay SRR @ &1 91 Jag|

1. Gateway of India / Ted 3T 3‘%73”

2. Victoria Memorial / fageifar aqifaa

3. India Gate / E'PETIT e

4, Chhatrapati Shivaji Maharaj Terminus / FAUfa RrarcimgR < ffag

Correct Answer :-

« Chhatrapati Shivaji Maharaj Terminus / FAUfA RaeiHER e ffiag



8) According to the latest World Malaria Report published by WHO in November-2018, how many countries
accounted for nearly half of all malaria cases worldwide? /

TdaR-2018 H SUISN §RT YHTRIG Tdi-ad fay wafar Rud & ogar, g wR ¥ auva gafear gt
T T Ty 1S ¥ e fraa S 1 aNTeH 22

1. Fifteen / UG
2. Three / o=
3. Five /tl'i?a[

4. Nine / a

Correct Answer :-

« Five /O™

9) CANCELLED

The International Day for the Eradication of Poverty is observed every year on i
T I & g siaRigia feaw ud® o 1 {7 SITaT B
1. 151 October / 15 3{ageR

2. 215t October / 21 Sfdga
3. 17t October / 17 Sfdga}
4. 18™ October / 18 SCCR

Correct Answer :-

« 171 October / 17 Sfaga’}

10) Which sportswoman from Madhya Pradesh won a Silver Medal in the ISSF World Shooting Championship 2018? /
noue @1 frd faerd A srduauaue e i Aftuaf 2018 A 359 ugw Sfiar 82

1. Manisha Keer /IFﬁElTaﬂ?

2. Sita Sahu/?ﬁﬁT‘v’I’l’Q’

3. Varsha Varman / 391 9o

4. Aditi Mutatkar / 3{fafd JeTeax

Correct Answer :-

* Manisha Keer /IF?FGH@?

Topic:- GENERAL REASONING

1) Find the missing number: / & H&AT T P

2,5,10,17, 26, 37, 50,



2.65
3.63

4. 69

Correct Answer :-

* 65

2) Find the average. / 3Na BIGH 2
80, 96, 89, 98, 55 & 38

1. 49

2.56

3.85

4.76

Correct Answer :-

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W & 15 e srerY vd G- T STHH YA Bl B | Terd Wl ugaH |

(i) BA44BU45SR

(ii) BA44BU4SSR

(iii) BA44BU45SR

(iv) BA44BU45SR

4) If M = 13 and MAT = 34, then WAX =? / Tf¢ M = 13 3fk MAT = 34, df WAX =?
1. 48
2. 47
3.23

4. 25



Correct Answer :-

e 48

5) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
frafafed faw 7e ar ual # & - 3T 10 ud & St a0 o1 |91 ve T8 82

3101 Huyi Highway Huyi Gonglu,

Jiading District, 201801, Shanghai, China

+86(21)39916811

(i) 3101 Huqi Highway Huyi Gonglv,
Jiading District, 201801, Shanghai, China

+86(21)36916811

(ii) 3101 Huyi Highway Huyi Gonglu,
Jiading District, 201801, Shanghai, China

+86(21)39916811

(iii) 3101 Huyi Highway Huyi Gonglu,
Jiading District, 201801, Shanghai, China

+86(21)39916811

(iv) 3101 Huyi Highway Huyi Gonglu,
Jiading District, 201801, Shanghai, China

+86(21)39916811

4. 1il

Correct Answer :-



In a group of 85 people, 49 of them like tomato soup, 63 of them like mix veg soup and each person
likes at least one of the two drinks. How many people like both soups?/

85 AT} & Th TG W, I7H A 49 DI THTER BT GU UHE 7, 34 & 63 P fRT 391 JU Wig ¢ 3R Ud® faa
P S A Y A A FH TP U9 UGS g1 fhaq A &1 i1 Ju UG 82

1.27
2.26
3.22

4.24

Correct Answer :-

. 27

7) CANCELLED

A can finish a work in 16 days and B can do the same work in half the time taken by A. If working together,
Then what part of the same work they can finish in a day? /

A TS &1 I 16 fe & HHIW $ TodT @ 3T B, A & gR1 forg T 9Hg & 1Y g0y # &t IS¢t $1H &) a1 o ST 2|
Ife 3 TP H1Y HTH B4 §, a1 3 TP fe A I 1 & fHaq YR &) THI R Ghd 82

3 3
—davs [ —
1" = ltiETrr

13 13
—days / —T&A
S |

E davs / ?E‘ﬂ

3. 3

Topic:- PEDAGOGY

1) The three domains of Bloom’s taxonomy are: / s #t AT & T AT 5.

1. Social, Affective and Psychomotor / HTHTIST, AT 3 A9aT2

2. Cognitive, Affective and Psychomotor / §STHTcH®, STATcHE ST AdETeH

3. Cognitive, Affective and Evaluation / ST, ATATcHS 31T Ao

4. Cognitive, Pedagogy and Psychomotor / H=TATcH, TTETervr sfi¥ aqraTgs



Correct Answer :-

« Cognitive, Affective and Psychomotor / H3ITHTcH, ATATcH 31T HATATEH

2) Educational planning relates to: /
A& et 1 | Haiftr 8:

1. checking whether performance is in conformity with laid down standards / Ig ST % el FMuffva amet &
3 g AT R

2. choosing the best course of action for achieving the educational objectives / Aferw 3%3’3] f 1 U = & T HRATS
BT FArdH BT AT

3. recruitment of teachers / TI&@] @1 il
4, frequent transfer of teachers / fR1e/! & AR gxdiaRl

Correct Answer :-

« choosing the best course of action for achieving the educational objectives / ﬁ% G%Q’C-l f &l U R & 1%‘1? Wi?ﬂ's‘
DT FardH aRibT AT

3) Thorndike’s theory is known as ./
yrHeTg® Rigria & &Y § ST ST 3|
1. Behaviorism / JdgRdIc

2. Functionalism / TRl

3. Structuralism / GRIATAIG

4. Connectionism / JIISIATG

Correct Answer :-

« Connectionism / “v'lthﬁ'_ﬁﬂ—qr

4) Pavlov’s learning is based on the assumption that the behavior of the living organism is: /

Uqdrg 3R 39 AT UR 3nuTRd g & sifad uroft &1 smarur fA= gl @:
1. Creative / XdTHD
2. Voluntary / Wfss

3. Intelligent / SfGemarquf

4. Mechanical / JifAd

Correct Answer :-

« Mechanical / Tif3®



5) In the context of progressive education, the term ‘equal educational opportunity’ implies that all students
should /

wifasiie fRien & e O, wue e sawR s dTaed g fF g s
1. Be allowed to prove their capability after receiving an equal education. /
T RGO 671 3 9GS &l I ) Y SiEfal & o
2. Receive equal representation in jobs. / Tl § sRreR ufafAfda o &8
3. Receive equal education irrespective of their caste, creed, color, region and religion. /
S, 4, 1, & SR o IR e T o s e v g1
4. Be selected on the basis of entrance tests. / TART URI&T & STUR TR ?\[3[ S|

Correct Answer :-

« Receive equal education irrespective of their caste, creed, color, region and religion. /

oifa, o, 37, &% 3R ¥H IR e o famm gam fyam ura |1

6) The process of arriving at generalizations from specific facts is known as: /

fafRry awf & aE=itever W ugea 3t ufhar o w1 9 &:
1. Induction / ORI

2. Creativity / oI
3. Divergence / faaeH

4. Deduction / Eh_a?ﬁ

Correct Answer :-

« Induction / RO

7) Heuristic method emphasizes learning by: /

AT At e & g offtm wR SR & 2
1. Doing and discovery / HRI 3R Groll

2. Understanding / HHA

3. Gestures / gId-HId

4, Feeling / HIAT

Correct Answer :-

« Doing and discovery / BRI 3R @It

8) In cognitive theory, the process by which the cognitive structure is changed and modified is known as: /



IIHTHD RIGId H, IJJHTHD IAAT Bl dga- SR AR B dretl UishdT B 9 19 H ST ST 3:
1. Accommodation / IR

2. Transfer of knowledge / T DT RESIGERU

3. Cognition / Gﬁiﬂ%{
4. Heuristics / G'I_:l}:l'lzﬁ

Correct Answer :-

« Accommodation / JHTANS

9) When a student takes the same test twice it is referred to as: /
o9 P15 faendf S aR uep € wdien 3ar @ o 39 fpw yor dehifa fear Smar 8:
1. After-test / SURTA-TRIET (IHTFR-CX)

2. Test-retest / TOET-GAURIET (SR-Rew)
3. Double test / QIS URI&T (sddl QE')

4. Post test / T¥ TRI&T (URE <)

Correct Answer :-

o Test-retest / Uﬂ&ﬂ—m&ﬂ @E—IQE)

10) The core curriculum consists of the: /
a ureashH § for=1 wmfira giar 8:
1. unit and lesson plans preparation by the teachers / IR A FARIGRIR] EE I'ic 3R U6 BISEIY

2. subject offered by the school authorities / ¥ ¢l UTIGTRal gR1 U fohar 7 fawg
3. total experiences by children elsewhere / 3{=UJ Il gRI P JHI
4. total experiences in the school programme / ¥ ¢f HRIHT | D 3fJHI

Correct Answer :-

« total experiences in the school programme / Y9 HRHH o P AJHd

11) According to Erik Erikson, how many stages are there in psychosocial development? /
TR Tiea & SER, AR e & $d frdaa aRurgid 82

1. 6 stages / ¢ 6 TRU]

2. 7 stages / <l 7 <RUI

3. 8 stages / P 8 <RI

4. 9 stages / P 9 TR0]



Correct Answer :-

o 8stages /P 8 ARO[

12) Symposium is a type of ./ gt Rrifsrgs) _ sTes ueR B
1. Lecture method / SIRAT fafey

2. Demonstration method / Tag fafer

3. Discussion method / == fafy

4. Case study method / &Y Ta! fafd

Correct Answer :-

¢ Discussion method / It fafdy

13) The ‘Two-factor Theory’ of intelligence was proposed by: /

S o1 fo-orR® Risia f= & gr1 weafaa fosar i or:
1. Wechsler / g%}

2. Skinner / RHR

3. Spearman / g

4. Guilford / FTAT®TS

Correct Answer :-

o Spearman / TRRAA

14) Which memory strategy works best for short-term memory? /
Jreupifere Wfd & forg 1= dt wfa Yorifa aa sreo1 o8 St 32
1. Association / T (THIRIUIM)

2. Elaboration / fosdR (3daReM)

3. Rehearsal / gaharg (e

4., Organization / TTRITI (HATSSIR)

Correct Answer :-

« Rehearsal / gaharg (Reda)

15) A good teacher must be : / Tdh Gﬁ[%' Rrere & g1 I1ieue
1. Resourceful and participative / HETYTI T 3R SSRETCl

2. Resourceful and aggressive / ST 3R TG

3. Resourceful and autocratic / HETYTI 3R H\aqssmm‘]



4. Resourceful and dominating / HETYTId 3R YHdd G- ardl

Correct Answer :-

« Resourceful and participative / SHTYTIT 3R ggyrft

Topic:- MATHS

1) In how many ways can 7 pictures be hung from 5 picture nails on a wall? /
7 F 1 $laR R @it 5 o il R $a fFa TF | dedrn o 9oar 8?2
1. 2520

2. 16807

3. 2250

4.21

Correct Answer :-

e 2520

2) Find the number of 3 letter words [with or without meaning] that can be formed using letters of the word ‘TRICK'? /
'TRICK' XT3 & 31&RY BT SUURT B 3 &Rl & Weal [3rd & 1Y a1 f9A71] F TR &1 91 H32?

1. 125

2. 120

3.60

4. 15

Correct Answer :-

3) Two dice are tossed once. Then the probability of getting an even number on the first die or a total of 8 is /

< U ) U SR IDTAT AT 99 U U U Y ST 3YdT $d 8 Ul g1 $t i 2l

5
9

O b O |

=R

Correct Answer :-



4) CANCELLED

The magnitude of the resultant of two given forces of magnitudes P and Q is R. If Q is doubled, then R is doubled. If Q is
reversed, then also R is doubled. Find the ratioof P: Q: R. /

qRTor P 3R Q ¥ AT 7T &Y 7@ & uRkumaawy uikHur R 81 9f Q SNAT €1 wirar €, @Y R SR 8 wrar 81 afg Q #t
Sae fear simar 8, af R 4t QT 8 wrar 81 P:Q:R &7 1A T B

1.2:1:2
2.2:3:2

3. \."E X \."E 5 \."E

4 \."E: | & \."E

Correct Answer :-

5) CANCELLED

The locus of the point which is equidistant from the points A(0, 2, 3) and B(2, -2, 1) is: /
3 faig &1 fawia gamy, =it fargaii A0, 2, 3) TE B(2, -2, 1) & IHG &:
1.x=-2y-z+1=0

2.x=-2y-z-1=0

3.x=2y+z+1=0

4.x+2y+z+1=0

Correct Answer :-

e X—2y-z+1=0

6) CANCELLED

If a cyclist turns around a right angled corner at a speed of 16 feet/sec, making a turn in 0.8 seconds, then he must lean
over at an angle of nearly i

I Ue IEfHd ae 16 Bie/AFs B 91 & TSIV H F IR) 3R ST 8, o 0.8 AFS § TP Al a1 8, A 59
W & DIV IR g7 91T



Correct Answer :-

7) CANCELLED

I cos®x
Goots g g

0 sinx+cosx

1. log(3 +2v2)
5 log(vV2+1)

5. log(1 +2v2)
4 log(3 —2v2)

Correct Answer :-

. lt:rg[:\ﬁ + 1)

8) CANCELLED

22 32 ‘1‘2
Sum of the series 1 + —+—+—+ _______ is /
1! 20 4!
22 32 ‘1‘2
Ao 1+ —+=—+=+ . T AT B
1! 21 4!
1. 5e
2. 4e
3.2¢
4. 3e

Correct Answer :-

9) CANCELLED

Let F[x] be the ring of polynomials in one variable x over a field F with the relation x*=0, for a

fixed n= N.What is the dimension of F[x] over F7 /

A ST Flx]. @a9dneN® OIv x»=0Fd9T & G & FIWR UTh W x & agua"ra:r
BRT &1 F 9X Fx] 398 &7 87

1. Infinite / 3{=d

2.n

3.1

4, n-1



Correct Answer :-
e n-1

10) CANCELLED

- o ] s -
Ifthe characteristic roots of [2 5] are &1 and Az . then the characteristic roots of [_2 : ] are: |
o 3 [] & s aqwouskn a2, ] & ot g e

1. Mhpand Ay / Ahy SR A,
2.0 +hyand A= ho / Ay + Ay SR A= 2y
3. 7\,1 and }\.2 / 7\,1 3?'?7\.2

4. 1/A and1/Ay / 1/0; 3R 10,

Correct Answer :-
o 7\,1 andkz / 7\,1 Gﬁ?)\.z

11) CANCELLED

Evaluate [[ xv dx dy over the positive quadrant of the circle x* + v* =a? /

ged X +y' =2 & UelcA® Tg8e W [[ xy dx dy & Hedlhe |

1. a%

al
g

2.

12) CANCELLED

A solid right circular cylinder is attached to a solid hemisphere of equal base. Find the ratio of the height of the
cylinder to the radius of the base so that the combined centre of gravity may be at the centre of the base. /

TS S HH-JUIHR S THH YR 1d TP 319 Ml & TST g 3 | YR & Hear & g a1
SIS BT 3UTd JTd BY, 39 UPR b TSare vl &1 TYad $g YR & Hg A gl

1.1:2

2. 1 :‘J”E



0
o
)
3
0
[o]
(ad
>
-
(7]
g
0
1]
-

13) CANCELLED
The plane ax + by + ¢z = 1 meets the coordinate axes in A, B, C. The centroid of the triangle ABC is /
ABC H JHAH ax + by + cz = 1 FAa=1i® el I frercht 81 Y ABC &1 F5 3:

1. (3a, 3b, 3¢)

1 1 1
2 (e

)

2’ 3b’ 3c

{:a b ’E]

4. "3'3z '3
Correct Answer :-

)

1 1

(__

1
e “3a’3b’3c
14) If sin A + cos A =1, then the value of sin 2A is: /
ﬂﬁsinA+c0sA=1,ﬁﬁsin2AWqﬁ%z
1. -1
2.0
3.2

4.1

Correct Answer :-

15) A sphere fits exactly inside a cubical box. Find the ratio of the volume of the cubical box to the volume of the
sphere. /

TF ¢ TP TIPHIad 91T & 3icR fAepd fhe Soar 8| TP ia® aied & aad & 1Y TG & ST B
ST T D |
1.mw:12

2.m:6



3.12:=n

4.6:7

Correct Answer :-

16) 1f the roots of the equation ax? + bx + ¢ = 0 lie in the ratio m : n, then /
qﬁmaxz+bx+c=0$ﬂﬂm : na?&ﬂ'mﬁ%,ﬁ:

1. bmn = ( m + n)ac

2. bmn = ( m? + nz)ac

3. b*mn = (m+n)ac

4. b®mn = (m+ n)2ac

Correct Answer :-

« b’mn= (m-—+ n)zac

17) 1f the 5 term of a G.P is 2, then the product of first 9 terms is /
gfe T UNRR A 15971 UG 2 B, 99 3P UYH 9 TSI HT UFPT 8:
1. 64

2.512

3. 128

4,256

Correct Answer :-
e 512

18) A parallelogram which is cyclicis alsoa ./

e AR gy P Tra e, te gl
1. Rectangle / 31dd

2. Square / it

3. Trapezium / JHdS

4. Rhombus / ?ITI?@'J;I\_:[

Correct Answer :-

« Rectangle / H1ad



19) A die is thrown twice. Then the probability that in atleast one of the two throws 4 comes up is .

TP UTH B & IR BhT T[T 99 311 U&T § A FH A $H TP 91 4 UTd g1 Bt Uiiiwar gl

11
1. 36
10
2. 36

12
3. 36
13
4, 36

Correct Answer :-

20) A cricketer has a mean score of 58 runs in nine innings. How many runs are to be scored by him in his tenth
innings to raise the mean score to 61? /

= TIfYaY & U fohdher T 1Ll THIR 58 B 1 31U HILH THIR DI 61 P g & [0 I 31U 84 Uil A fopaq
[ g2

1. 80
2.85
3.88

4. 87

Correct Answer :-

21) The equation of directrix of the parabola 5y2 =4x is /

WA 552 = 4x & forgar o1 gt :l
1.5x+1=0

2.5x-1=0

3.5y+1=0

4.59y-1=0

Correct Answer :-

e 5x+1=0



22) The smallest positive integer for which (1+i)2" = (1-i)?" is: /

9% 999 B! YIS qut e forgas 1w (14420 = (1-)20 A= @

1.1
2.3
3.2

4. 4

Correct Answer :-

23) The surface area of a sphere is154 sq.cm. Find the volume of the sphere. /
TS A T YET &% 154 T A B 1 A BT ST 77 L |

1. 179.66 cu.cm / 179.66 O JHT

2. 343 cu.cm / 343 ° QAL

3. 539 cu.cm / 539 O HHI

4.77 cu.cm / 77 I GHY

Correct Answer :-

« 179.66 cu.cm / 179.66 T SHI

24) The total number of selections of four alphabets taken from the word “MATHEMATICS” is: /
Mg “MATHEMATICS” ¥ IR 31&RI & T99 B34 & TIb] 91 oo =T 3:

1. 133

2.70

3.73

4. 136

Correct Answer :-

« 136

25) The sum of all the edges of a cube is 60cm. Find the volume of the cube. /

o ot Ut Yaraei &1 AT 60 A B 1 ¥ BT SIS [0 B
1. 625 cm® / 625 THP

2.10cm3 /10 @Iﬁ3

3. 1000 cm?3 / 1000 JHB



4,125 cm3/ 125 TEP

Correct Answer :-

. 125cm3 /125 QAP

26) The number of real roots of the equation ( x — 1)2 +(x— 2)2 +(x- 3)2= 0is /
BT (x - 1)2 + (x - 2)2 + (x - 3)2=0 P TP YAl DI JWAT &:

1.0

2.3

3.2

4.1

Correct Answer :-

27) The distance of the point (3, 4, 5) from y-axis is /

y-3H& A fdg 3,4, 5 P g &

1.3
2.4
3.5

V34
4,

Correct Answer :-
\."'ﬂ

28) 20 teachers of a school either teach Mathematics or Physics. 12 of them teach Mathematics while 4 teach both
the subjects. Then, the number of teachers teaching Physics only is: /

TP Wpd & 20 e a1 at Wifass ar fibr 7fvra uera &1 379 | 12 Riere wfvra uera § wafe 4 S fawal
&1 UeTd 81 fibe, Faa Wifas! ver ara Rigre! #1 T 3:

1. None of these /Eﬁ@ﬁgﬁ
2. 16
3.12

4. 08

Correct Answer :-



29) If A is a square matrix of order 3 such that | A | =3, then adj (adj A ) is: /
gfe PH 3 PIUS T ATHG A SHUPR & fF | A | =3, TT adj (adj A ) &

1. 27A

2.3A

3.9A

4. A

Correct Answer :-

30) 1fnC,_+1C, . =""1C_, then x =/
r r+1 X

g nC, + "Cpyy ="1C,, A x =
1.2r+1

2.1

3.r+1

4. 2r

Correct Answer :-

e rt+1

31) oot ;
If-1<a<0andne M,then_l; T3, dx converges to: |

A ~1<a<0dRneNd [ dx fe F sfEERa gam

1.0

2. 1/(1+a)

3. =
4.1

Correct Answer :-

32) Which of the following statements is true about simple harmonic motion? /

Frfefaa # @ 9 91 $Y= I 3mad 7fd & IR § 981 82



. The periodic time of simple harmonic motion is 2m+/u. / G4 3Tad Jfg T HTdTae A, 2m\p ELI

The frequency of simple harmonic motion is 2—; | T a1t T 31@'1%?—[. 2—; %I
2l w7 W7

a . - i i i ’ e
The frequency of simple harmonic motion is the reciprocal of its period —. !
W

5 el e i B HGhed, FEA Hafer = T g A

4 The periodic time of simple harmonic motion is 2./ T4l ad Ifd &1 3MafEd 8T 2n %I

Correct Answer :-

a . - i i i ’ e
The frequency of simple harmonic motion is the reciprocal of its period —. |
W

el e i T Ghed, FEA Hafer = T ghA

33) Co-ordinates of the midpoint of the segment joining the points (6, 0) and (0, 8)is__ ./
fagan (6,0) 9uT (0,8) H AR At T T Faafdg e =i Bl

1. (6,8)

2.(0,4)

3.(4,3)

4. (3,4)

Correct Answer :-

34) If | z; | =| z»| and amp z; + amp z, = 0, then z; and z, are two complex numbers such that they are: /
?T%|zl | = | 2,| ¥d amp z; + amp zz=0%,ﬁzlﬁzzaﬁﬂwwmﬁﬁ7:

1. None of these /ﬁﬁﬁaﬂéqﬁl
2. Equal / G 90 g

3. negative to each other / Eq;l:il. Tdh g{-l\{ &1 BUTHSD %I

4, conjugate to each other / Sl Th W Gl ﬂ’{[‘ﬁ gl
Correct Answer :-

« conjugate to each other / FRINEGT @3\’ Gl WIU:F[ gl

/




T9g (-1,2) | BIHR ok el TH TS W1 DI o [dg A gR1 UPh P15 & | dd SHBT JHIBUT gl
1.6x+3y-5=0

2.6x+3y+5=0

3.3x+4y=>5

4.3x+4y+5=0

Correct Answer :-

e 3x+4y=5

36) ABC is an equilateral triangle inscribed in a circle of radius 4cm. CD is perpendicular to AB. Then side AC =/
ABC, 4 A, =1 & g § 911 §311 U 9HETE APV 81 CD, AB R AG®U g1 df Yol AC =

1. 32 cm/ 32 T
2 V2em [ 2 §HL

3. 243cm [ 2¢/3 §HL
4. 44/3cm [ 44/3 &

Correct Answer :-

4\."35111 4\."'§m.

37) CANCELLED

Minimum wvalue of z= 5x + 3y subject to the constraints 2x + vy =10, x + 3y = 15x <10, vy <8, x,y =0 is
2¢+y=10, x+3y=15x <10, y <8, x,y = 0 Il & 3efel, z=5x + Sy FTegeadA AGT___ |
1.27

2.47

3.17

4.29

Correct Answer :-

38) A rectangular box, open at the top, is to have a volume of 32 cubic feet. What must be the dimensions so that the
total surface is a minimum? /

TP ATATPR aiad, St Y W a1 8, TUST 3aa- 32 99 Wi § | 3BT ATTH FT 8141 A1, a1fP $of Y8 gAdH g1?
L 8ftx4fix1fi

5 16 %2 ftx1ft



3. 8ftx2fix2ft

4 4fEX4fi X2

Correct Answer :-

. dfixdAfix2ft

39) A flag staff 5m high stands on a building 25m high. At an observer at a height of 30m, the flag staff and the building
subtend equal angles. The distance of the observer from the top of the flag staff is: /

25 St THRT W T 5 HY ST tavids @l 21 309 Bl FUE W TS TP V&P & 1Y taeids Ud SHR JHE HI0T
T4 €1 avies F N F Ve & gt 8:

—

3

Lh

i -
31};
40) : . 5
If @ and f8 are zeros of the polynomial f(x) = a(x* - 1) - x(a* +1), then (a + 1} + 1) =/
¢ 2 Td B, TgUS f(x) = a(x? - 1) - x(a? +1) &g b, dd (a+ DB+1)=
fa® —1)
1. o
(a+ 1)
2. %
(a+ 1)
3, @
(a® +1)
4, o

Correct Answer :-



41) Find _I:__ F .dr, where F = ( x! — y)i + 2xyj and C is a square bounded by the co-ordinate axes
and the linesx=a, v=a. /
fff.dr AT FX, Fel F=(xX -y +2xyf 3R C v ot § S @dene &t 3R
@3l x=a.v=a ¥ TR %I

Correct Answer :-

. 2a3

42) If a, f be the roots of XX + px + 1=0 and ¥, § be the roots of x? + qx + 1= 0, then the value of
(@—yXB-yXa+8)B+d)is /

e 2 +px+1=0F Ad a,f 0@ x+qx+1=0F AT ¢,8 §, A9 (@a—yN B-yNa+8EXL+E)
F AT =
1.q2
2.9° +p?
3. q2 - p2
4, p?

Correct Answer :-

43) p and o are the mean and standard deviation of a set of observations. If each observation is

increased by 3. let the new mean and standard deviation be pu, and o,. then the correct option is

I
pTd o Y& & Udh §Hp & AT U4 Al [d9ed gl 3G e UaTT & 5 gant
g¢l fear 9, af AT AT Ud #Alde [dded & u, Tdo, Al aliaC, dd e [déed
_®
B> pando=o0, [ p=> u, o= g
s i< pando= oy [ p< u, o= g
s u=mando=o0, | p=p,Wo= o

4 u=pando< o [ p= p, o < g



Correct Answer :-

pe pgiande= o | p< p, SWa= a0

44) If A and B are invertible matrices such that A’=] and B?=I. then (AB)is: /
gie A 3R B oAU 37Tegp 56 YK & foh A AR B=L AT (AB)! &
1. B Al
2.BA
3. AB
4. A"'B!

Correct Answer :-

45) If 16 x4**2 —16x2**" 1 +1=0,then x=___ ./
e 16 x4 2 —16x 2 +1=0,dd x=__

1.-4

2.6

3.2

4.4

Correct Answer :-

46 %
) If r = (sin ht)a + {cos ht)b where a and b are constant vectors, then:? =71/

IfE r=(sin ht)a + (cos ht)b STGTa Ta b 2R Tieer §, oo H =7

dt



: : , dy : d2y
The degree of the differential equation (—) +3—=0 i o
dx dx?
dy\* dZy
WW(—) + 3—=0 &r =1d el
dx dax?
1. Not defined / ARHTYT T 5
2.2
3.4
4.1

Correct Answer :-

48) Solve: lim, _,(sinx)™"* | oI & : lim, _ ,(sin x)™="%

1.1

B3|

1

e,

!

3.V

4.0

Correct Answer :-



To an observer on a train moving at 30 kan/h due north, wind appears to blow from 15° east of
north. and from a motor car ranning at 15(v/3 — 1) km'h due east. it appears to come from 15°

north of east. Find the true direction of the wind. /

Ioal @1 3R 30 TRevger T IFaR & Ield dreil Udh ¢ 9 U WETdh o Tolg, 3cal
#F 15 Bl qd & gar sgdt udia gt 8.3 9@ A 15(/3- 1) fsvaer @ =@y arelr
FAlex R #,. 99 7 15 Bl 3cax & et udid gidr 81 gar $T @Er 2w A9 W

. 60° north of east [/ ‘{cff F 60° 3cat
, 30° east of north / 3cad¥ & 3u'=qj

3, 60° east of north / 3ccX & eoctijc‘f

30° north of east / qu F 30° 3oy
4.

Correct Answer :-

60° east of north / 3cd¥ o 60° Qﬁ

51) Ifd=2i—3j—k.b=—i+k.é= 2j— k. then the area of parallelogram, whose diagonals
are (G +b) and (b +¢) is
afg d=21-3j—k,b=—i+k,é=2j—Fk §, 99 GATR agss forasr fawor
(@+b)ud(b+2) &, & &b 2l

1.lsqunit/l?ll"'fs?ll’Tl_sC

2.2squnits/25|"1:_i"$|_$c

1 1
5 Esqu.nits ! Eaﬂ‘r Shis

—

1 1

=~ sq units / — T3 SHB
4, 4 4
Correct Answer :-

1 1
Esqu.nits / Eaﬂ’r SIS

52) The transformation w = e "/2z bounded by the lines x=0, v=0 in the z plane maps into: /
z GATA Ha F x=0. v=0 @3l & @'ITI'LTﬁEE( w = e /2 z & TGOl He A %:

1. u=v=0

2. u=0,v=1

3. u=1,v=-1

4. u=-1,v=1



Correct Answer :-
e u=v=0

53 : 3 5 9 17 ]
) The next term of the series E+i+;+;+ |

2,5 ,9 17
goff = +=+>+=—+ AT 9€ &
2 4 8 16 55 %L

35

1, 32

29

5, 32

25

3 32
33
4, 32

Correct Answer :-

54) Given AB = 3i — j — 5k and coordinates of the terminal points are (9,1,3), then the co- ordinates

of the initial point is /
fezm amm 8, AB =3i— j— sk wa 3ifdA &g &1 & (9,1,3) &, e URfHE f&g &
foréara el

1. (0,10,2)

2. (6,2.,8)

3.(10,1,-2)

4.(10,12,2)

Correct Answer :-

55) IfA and B are two mutually exclusive events such that P(AF% P(BF ; then P(A or B) =
R |
afg A Td B & WIW el HeaAl 56 TFR § o P(A)=>. P(B)=. T9 P(A orB)=
|



=
] =

vl ] w

| =

Correct Answer :-

56) R(cHD) | R(et1)(k+2) | g

3 =6 IxBex9

The sum of the series 1 + §+

Aoy 1+§+ k:k+1}+ E(k+1)(k+2) + T am %Z

) IBexD

1. None of these / 38 ¥ IS g1
, B

, &

. GY

Correct Answer :-

()

57) Solve: 971 =24 + 9% |/
e &L 9FT =24 + 9%

1.0.2

2.0.5

3.04

4.1

Correct Answer :-
« 0.5

58) The incentre of the triangle with vertices [:1, "E), (0,0) and (2,0) is !
oftst (1,v3),(0,0) wd (2,0) arelr Byt & 3ada 2



1.(1,1)

2.(1,2)

5. (V3.1)

1
(1,——)
4, V3

Correct Answer :-

1
(1, ——)
. V3

59) If 02316 is expressed in the form for smallest values of whole numbers n and m, then

2Nxgm
the value of m+n = i
I 0.2316 & ToF BT m W@ n & ~ear 7 & v —— T § Ia

2Ny

FaT ST 8, F@ mn FTAH = |
1.6
2.4
3.5

4.7

Correct Answer :-

60) Simplify: (vVx — /¥)(Vx+ M=+ 9 (2 +yD) |
gl & (Vx— DV +H M+ ¥)EE+ YD)

1, F =59
2. (x—¥)

3. YRy
4 & =31

Correct Answer :-

. =37

b e I
0 cosxvZsinzx



|

w
| =

L b

Correct Answer :-

62) IfA = 4u*1 —u’] + uk and B = 27 — uk are vector functions of scalar variable u, then the derivative
of AXFBis:/

A A= 40?1 — 03]+ uk IR B = 27— uk ,u 3R T F JaeX FaA § d AX B & ool
(3Rafea) &

1. wil + 12u?y

2. 3u’y + 2uk

3 437 + (1202 + 2)] + 6uk

4, 14u — 3u°
Correct Answer :-

4137 + (1202 + 2)j + 6uk

63) The value of _I"_ll[F'z (x)]? dx, where P, (x) is the Legendre polynomial of degree 2 is: /
JZ,1P(x))? dx T AT foIo=T €M, ST&T P,(x) . Blr 2 &7 St 9 &

1.2/3

2.2/5

3.5/2

4. 3/2

Correct Answer :-

e 2/5



Find the cofactor of the element 3 in the determinant. /

R & 3999 3 & Tg-FR&E & AT |

2 F a4
A=l1 & 3
8 5 1
1. -46
2.46
3.42
4. -42

Correct Answer :-

. 46

65) The functional I (v(x)) = f: (* + e 2ysinx )dx has which of the following extremal with

C1 and C; as arbitrary constants?/
FRIcHS I(y(x)) = f:[}fz g + 2ysinx )dx H THIETT S & 7 H C13iRC2
afgd Aafef@a § § &l a1 a7 g

¥y=Cie™™ + Ce” —Esiﬂx

66) In APQR. median PS has a mid-point T. What is area of ATQS? /
APQR #, AIEG&HT PS & #Aedldg T 81 ATQS &I &9t T §7?
1 13 areaof APQR / APQR & &A%el &1 1/3

, 1/2areaof APQR / APQR & &A% FHT1/2

3. 2/3 area of APQR / APQR & &A% &1 2/3

4 1/4area of APQR / APQR & &IAhel &l 1/4

Correct Answer :-



1/4 area of APQR / APQR & &1A%we &l 1/4

is [/

67) Sum of the series from n = 1 to o0, whose n' term is Cna i
n+1)!

n=1% co d Aol &1 I AT 1, ﬁlﬂﬁnﬁﬁ{nilr &
1. None of these /Eﬁ@ﬁé:ﬁ-ﬁ

68) Let T:R2-R? be a linear transformation for which T(1. 2)=(3, -1, 5)and T(0,1)= (2, 1. -1).
Find T(a, b). /
A o & T:RI-R? v @e oflads §, &ras e 71, 2)=3. -1, 5) 3R T(0.1)=
(2.1,-1) &1 ad T(a. b) Fd F:

1.(a+2b,3a+b,7a+b)

2.(-a+2b,-3a+b,7a—b)

3.(3a+2b,-a+b,5a-b)

4. (-a+b,-2a+ b, a-b)

Correct Answer :-

« (-a+2b,-3a+b,7a—b)

: : x=1 f—2 _ £—3 x—2 o Eh
69) The shortest distance between the lines — =1 = d =2

2 3 T 3 2
r x—1  y-2 =3 - x—2 x4 =-hH
sl T2=2= g T == & i wgeaE gl 4|
-
3
|
1.”‘42
2
2. V5
1
3. V6

>
] =



Correct Answer :-

1.0
2.3
3.2

4.4

Correct Answer :-

2. None of these / 3?13[ I ﬁé -_-lﬁ
2

3. &

1

4

Correct Answer :-

72) If£=Bn +Bix+Baxt+.. .. . + Bn x® + _____ then the value of { Bn — Bra)is [/

afe fx —Bo+Bix+B2x?+...... +Bax®+ ... a9 (Ba—Ba1) & AW &

—X




Correct Answer :-

73) If A B, C are three mutually exclusive and exhaustive events such that if PI:BF%P(AJ and
P(C)=2P(B).then PA}= ... .. /
afg AB vd C dieT e 39asf v 9y gead 56 yaR & & afg p@)=2p(4)
g P(C) =2 P(B), dd P(A)= |

4.

Correct Answer :-

74) Ifthelines 3x —4y +4 = 0and 6x — 8y — 7 = 0 are the tangents to a circle, then the radius of

the circle is A
afg T@I¥ 3x—4y+4=07Td 6x—8y—7=0 U dcd I TN @IV §, dd ded &l
ax:r;':l %’l

b |

N

4.

Correct Answer :-



75) If d=2i+j+ 3k andb = 3i+ 5§ — 2k.then |d x b| = /
afg G=2i+j+3k U9 b=3i+5j—2k.dd |axb| = |

1. V507

3, V105
4, V705

Correct Answer :-

76) Theline 3x — 4y = Atouches the circle x* + y* — 4x — 8y — 5 = 0, then the value of 1 =
!

Y@M 3x— 4y =1 dcd x> +y? —4x —8y —5 =0 &I TN Tl §, d9 1 & A
_ ®l

1.—-150r-35/-1541-35

2.-150r35/-154135

3.150r-35/1591-35

4. 150r35/154135

Correct Answer :-

e 150r-35/15471-35

77) li 1+cos®x |

B neyne.
1.1
3
2.2
3
3. 4
3
4,8

Correct Answer :-



lim < -7xi+152-9 _
a3 gt _gedioTre-27

1.9

2.3

O =

= N

Correct Answer :-

79) Ifysinx +cosx=0_ thensinx= [
gfe Vsinx +cosx=0,ddsinx =

\."'E— 1
1. 2

—/5-1
2. 2

—/5+1
3. 2

VE+1
4. 2

Correct Answer :-

\."'E— 1
o 2
80) 1 2 3
The Eigen values of the matrix |0 —4 2|are:/
o o0 7
1: 20 3
Aeaw |0 —4 2| & oA A7 &
0o o 7
1.1, -4, 7
2.1, 4, 7
3.1, 4, -7
4.-1, 4,7

Correct Answer :-



81) Ifsin'l(%)+sin'l(i}=sin'1(x)= thenx=/
LT sin'l(%}+sin'l(%)=sin'1(x}= ddx=

56

1, 65

16

2. 65

20

3. 62

64
4, 65

Correct Answer :-

56
. B5
82) =12 46 49 51 55 a 36
F= 1 4 4 1 4 I 4
Ifthe mode of the above data is 49, then the value of 2" = /

aﬁmﬂ?ﬁr%awagmam%.aa“a“awm

1. 51
2.49
3.42
4. 56

Correct Answer :-

. 49



Twonon-parallel lines and m are such that a line # intersects both of them at distinct points as

shown in the figure. Which of the following pairs of angles are altemate exterior angles? /

gl IR-FAIGR @I [ T m 59 UK § [ U (@ a e @i o fafise
forgal W ufa=sfea a=dr €, oo for 7 & femmr mar §) afafaa & & =l7
AT THIcR FET HIVN & A 67

1 Zaandzg [ tald sg
5 dandze | £dUd Le
3 faandzc [ £aUd Lc
4 2dand £f [ £dVd Lf

Correct Answer :-

saandsg [ £aUd sg

84) Iff(::;zl)exdx = f(x)e*+cthen f(x}=__._ .. ...}
i f(x_zl)exdx =f(x)e*+c,dd f(x) = coreemeeeeenee |

x

1

2
&

=

1.

| B e

w
N

| b

4.

Correct Answer :-



. ; By —4 ;
Find the inverse Laplace transform of ———— . where the parameter s is real. /
=5

4z +20

=2 _ & faulia 9o crawid Ad &, Sl HIeY s aediad ol

JETT)
1. 4e™ — etsin2t
2. 6%t cosat + 2 et sindt
3. 53t e 2t
4. 3¢ + 3 cos3t

Correct Answer :-

o 6e2t cosdt + 2 e?t sindt

4
%.
2
:
g
el
]
a
.il
:_;p
|

1. 10 sq units / 10 aﬁsao‘rs‘
2.5squnits /5 aﬁmé
3.8 sq units / 8 aﬁwrs‘

%squnitsf' g Tl SHS
4,

Correct Answer :-

e 5 squnits/S?Jl"'f_§'$T&F

87) d?y dy
The product of order and degree of the differential equation |1 +——=x—is _............ /

[aY dz_}? d_:l,? -
Hadhd GHEUT |14+~ =x—= & & Ud °Uid &l IUIaHA 21
dx2 dx = —

1.3

2.2

3.4

4.1

Correct Answer :-



Divvais making an aquarium of 1.26m length, 30 cm breadth and 30 cm height. What is the area
of glass required tomake it if top is left open? /

fear 1.26 drdars, 30 AT =isS 31k 50 A F=rS arer v AR g ¢l ot ofd
GelT 6T ¢ al 5% 9 & AT 3aeded T &I A6 T GIam?

.26m

50 cm

30 cm

1. 1.524 m?/ 1.524 912
2.1.938 m?/ 1.938 A2
3. 1.308 m?/ 1.308 |12
4.1.678 m?/ 1.678 T2

Correct Answer :-

. 1.938 m2/1.938 Hi2

89)
Iff(x)=

x b b
a x b
a a x

.then f'(x)is equalto /

x b b
a x b
a a x

g f(x)= dd f'(x) o= & st &

1. 3( 2x — ab)
2. 3(x% - ab)

1 b b
a 1 b
3. la a ll

=
=
=

4 0 O 4

Correct Answer :-



=& =9
1. l—8 6
7 5]
2. l—-8 &
7 3]
3. L—-8 -6
-7 5
418 -6

Correct Answer :-

|5 &
« L—8 &
91) bc ca ab
Ifthe p® . q* and r* terms of an HP be a, b, crespectively. then |p g r |isequalto /
it il 1
HE M bc ca ab
qfe U gcHs AT T pal, q@al vd rAT U &AM a, b c 2, dF |p q »| =
1 1 1
1. abc
2. pqr
3.0

4, (ab+bc+ca)p+q+r)

Correct Answer :-

92) f(x) = {4::; e X Jflim,_, f(x)exists, thenk = ......... |

x—k x=2

flx)= {ix__f’ ;’ff g Ife lim, , f(2)8, dFk= .o |

2.5
3.1
4. -1

Correct Answer :-

93) The vector # = 4i + & + k is inclined to x-axis at an angle of /

X-3aT 9T Oieer r =41+ 85+ k FIOT 9T 3740 ]



S

ek
5 Cos (9}

k Fo
.cus (9)

bR

Correct Answer :-

94) If (1 +x+=x)2=X" a x" .thenaj—2az2+3a3-....—2namis /

afe 1+x+xH)2=3" aq x"§, dd a1-2a2+3a3- .. —2nan@
1. (n+1)2"
2.n
3.-n
4. n(2M)

Correct Answer :-

95) . 3
Differential equation of the family of curves given by x4+ v* = 2axis ............. !

x*+y? = 2ax AR QU ¢ Th-Thel &I 3dehel THIEIOT el
1 X2 +y*—2xyy' =0
7 x—y* 4 2xyy' =0
3 x°—y°—2xyy' =0
+2xyy' =0
Correct Answer :-

e XxT—y 4+ 2xyy' =0

96) If for real x_ the equation X + B 2 cos & holds, then cos 6 is equal to /
X

Ife adids X & v g x + J—t=2cus E'Etﬂa cos 8=

1.0



n
Sy

-
oyl

4.

Correct Answer :-

97) 1fa-= [_”1 3] sy S A e

aﬁ%:a=[_”1 3]@" (al +bAP = A &, ae:

4 a=b= /3
Correct Answer :-
1
a=bh=—
W2
98) Iff=xi+yj+zk .then (FxD.(FX))+xy= /

Afegr=xi+yj+zk .99 FxD.Fx)) +xy= I

4. xy

Correct Answer :-

99) Ifthe first two terms of a H.P a.re% and E respectively, then the largest term is /

o va wicHS AN & JUHA & Ug HAY ST §, d9 HaW d51 Ug e 8

1. 51 term / 51 Ug

2. 15t term / 15a1 Ug



3. 12t term / 12aT Ug

4, 10t term / 10dT UG

Correct Answer :-

o 5t term / 5aT Ug

100) A curve is such that the sub tangent at any point on it is equal to the square of the abscissa. If it passes through
(2, 1), then its equation is: /

TS g U1 g @ % 39 W sl oft fig W Su wusier Yo & ol & RIeR glar 81 9fe a8 (2, 1) | §R [oRar g, at
SUBT THHT 3

1, ¥=ez x

2, P



